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qrr— 1/ PART — |
a1t faebrd a REneeE / CHILD DEVELOPMENT & PEDAGOGY
Rdr : Fratira a7 & awr 83 3 fie s ot T g

Direction : Answer the following questions by selecting the most appropriate option.

1. ™ F o TaE A sfew ot 1. Gagne in his book "The conditions of
atfr § Sy 3 o T =amT & ? learning" has described how many types
of learning ?
(1) 9" 51 (1) Five types
(2) ST ¥R (2) Eight types
(3) & g (3) Seven types
(4) 39 9B (4) Ten types
2. Ffefed & & d9-@ w9 @ 7@ 2. Which of the following statement is not
g correct ?
() 3 wa e & o o ¥ (1) Growth and development are two
different aspects
) gfs SHaqud g @ (2) Growth continue throughout life
(3) & fabra = gk &1 & w wm (3) Growth is one of the part of
2 developmental process
(4) fera gaa wfer 2 (4) Development is a continuous
~ process
3. frefofed & & 99 T & s Ll 3. Which of the following play important
3 famrg & qﬁr_q’i"f "1&{35[ fremer & ? role in the development of moral values
in the child ?
(1) ST Fer (1) Prayer assembly
2) @ aEliE (2) Proper socialisation
G) (3) Intellect
(4) a9 fooeg ¥ (4) All options are right

Level-1/1101 PR O,
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5. fefafon 3 & f-@ @ g B

6. f=fafan & & Fmw  a=E

7. Frafefmm & & f-a 397 aeaEen

141

. Fetatem A & P orfveiE R
wHEm T k7
(1) war-Rer Zm A R R
Q) TH-EE A & T e
(3) AR # g * g e

) F-74 Rmr am

qEE W A qE 7
(i) e
() @ F

(2) e o
(4) swifEA FT

s 7 wme R 7

(1) P geam &W & w e
() =4 F fo D F e S
(3) TR qT qoE e

) i e w0 R

IR ?

y #=
(2) w9 3 FFET
(3) Al AT

< &7 g
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1. et A @ A A e aw o
HAAHT WATE A FATTE 6 3
= vl SRl B g e k7

() anEd
(2) g At

%) i Fdea
() e SR

. ffaigs # & #9-3 qafavin @
e B aufaa 7 # 7

(1) BEFRE T
(2) A IF
(3) wfd® FH
(b il oz wh B

. e # # dmd Rf e @ oW
o & fo sog 7R ?
(1) F wa fafa
(2) Tafafy Farm
(34 @ fafg

(4) i fafe

Level-1/1101
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4. Which of the following is nof @ source
of informal education ?
(1) Education given by parents
(2) Education givén by neighbours
(3) Education by peer groups
(4) Education through  class-room
teaching

. Which of the following action verb is
not of affective domain ?

(1) Accept (2) Obey

(3) Differentiate (4) Influence

. Which one of the following » an
example of intrinsic motivation ?

(1) Selection in school's football team
(2) Solving a problem for its own sake
(3) Getting a dress on birthday
(4) All options are right

7. Which of the following is the
characteristic of the stage of later
childhood ?
(1) Self-assertion
(2) Time concept
(3) Social tendency
(4) Hero worship

Which of the following teaching
strategy fulfils leaming objectives under
cognitive, affective and psychomotor
domain ?

.

(1) Lectures
(2) Group discussion
(3) Role playing

(4) Programmed instruction

Which of the following enviroamental
factors affects the personality ?

(1) Social factors

(2) Cultural factors

(3) Economic factors

(4) All options are right

Which of the following method is not
appropriate for teaching at primary level ?
(1) Problem solving method

(2) Activity approach

(3) Lecture method

(4) Project method

8. Prfifed & & #-m a9 wh o
k7

() AW @ W o @
vt #

() "% A TTE A T ¥
a@

(3) & wE awE I3 X @
Rurdt A Fw B

(4) wotEAT & T R o b

et § affrr a3 fo R
A A7 F P & 7

(1) He-for # sergh
@ F=

(3) T

) ==
. HT S k7
) &9 & @emr

(2) 8R & § mewriig
3) TR

(4) -3/ Qg
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|
wfem & Frm 3 @ea aw & P
sfyafea R @ :
(1) Tead vo dtfers 3
(2) 91 o arewT 3
() @ e v &
ORCE ]

15. e & & B st A M e
o ¥ 7

(1) 3 (g3)

(2) s (gh)

(3 T (e

(4) ¥ @ go-gn

forst e # R B & & B
59 TR § S g b 7

16.

(1) Forerdf vt e s
(2) Fore w3 s s
(3) s oftfeafrt
@) & e wh ¥
. g Feffea 3 3 B s @
w7
(1) Fomgor
(2) st
(3) SR
(@) I & & 3¢ T
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Which of the following statement is nor
correct ?

(1) Intelligence  and creativity  are

synonym

(2) An intelligent person may not be
creative

(3) A creative person may have high
degree of intelligence

(4) Creativity can be nurtured

Which of the following factor is

for individs diffe

among children ?

(1) Auitude of parents
(2) Intelligence
(3) Race

(4) Place

What is parallel play 7

(1) Playing in groups

(2) Participation in small groups
(3) Role play

(4) Playing separately

1]
The law of readiness as one of the liw
of learning has been propounded by
(1) Edward L. Thomdike
(2) John B. Watson
(3) Evan Patrovich Paviov
(4) Max-Wertheimer

Which of the following is known as
ethical moral arm of the personality ?
()

(2) Ego

(3) Super-ego

(4) Idand super-ego

The subject matter of educational
psychology revolves round which of the
following key factor 7

(1) Learner and learning experiences
(2) Teacher and learning process

(3) Learning situations

(4) All options are right

. Reinforcement is a part of which of the

following process ?

(1) Teaching

(2) Leaming

(3) Instructions

(4) None of the above
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24. 7 P ®T W A0\ L
T e k7
(1 70-79 (2) 80-89

() 90-109 ) 110-119

25, fmmft # s md sfwenmr & o 7
qu v fasaeem fred o gied @ R
Ml

) FEgFr e iy
(2) FFrheer fafe
(3) wErmes fafa

() &t fEer a0

26. F § fewr weE @eEm @ oSwEm
& e &

(1) e wfem oRfafed e &
fr

() Fws & 3 B 8 w9 3 f
(3) 74 § g aw T @
(4) foem & savam A9 & TR

27. @ift 7 & forgr sfame & ofes

(1) 9 mHo FTEE
(2) THo Ho AfrEg
(3) T2 vo wEH
4 @ @ A
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stages  of cognitive

18. How many

development has been narated by Jean
Praget ?

(1) Fight stages
(2) Five stages
(3) Six stages
(4) Four stages

19. Which of the following & nef a
characteristic of introvert personality *

(1) Self Centered
(2) Conservative
(3) Sociality

(4) Submissive

20. Mental growth and development is
controlled by which of the following
factor ?

(1) Heredity

(2) Heredity and environmental factor
(3) Environmental factor only

(4) None of these

24. A normal child belongs to which of the

following 1.Q. level ?
(1) 70-79 (2) 80-89

3) 90-109 4) 110-119

. A valid and reliable method to draw
conclusion about interest and aptitude
of the learner is :

(1) Objective observation method
(2) Introspection method
(3) Experimental method

(4) All options are right
Teaching aid is used in the class for :

(1) Creating specific learning

conditions
(2) Reducing burden on the teacher
(3) Maintaining discipline in the class
(4) Being compulsory in the teaching
Propounder of model of memory level
teaching is :
(1) John F. Herbart
(2) H.C. Morrison
(3) Ned A. Flenders

(4) None of these

(L]

21, faen st sfos as % b 21 Educational Psycholops ol
() fomww dfaza o o (1 Teacher centred educa
1 o @ fien g1 (2) Child centred educarion
%) et g fam o (3) Curriculum centred cducition
() famm dfen finn or (4) School centred education

22, foafafea & 4 @ m 299 ahth ? 22. Which of the following statement i+

correct ?
(o A & e 3 e A g (1) Maturity has importance of practice
(2) ufrmaa oz arhfes fam % | (2) Maturity is a physiological process
13) SfrvaE g e b f (3) Maturity continues till death
4) o # e TEwE aER (4) Maturity involves only quantitative
affe A3 # change

23. T T W AE NG SRR F 23. The stage when child drives less
WY FH e fm B, watem k enjoyment from his parents. is related 10
Eicd his
() sy fawm & (1) Physical development
() wrfes foam 3 (2) Mental developmen:
(3) W faprm A (3) Language developmen:
) " Rem & () Social development

Level-1/1101 P.TO
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2. Pl A w-wmir wRRE ‘
A # A a2 ‘
(1) ¥ Hen @ ofed & e & ’J

(2) A o3 & g o § e B

G) ¥ F | A v g
weraE &

-(J)QHRHMQMW]Q

sorE § w5y T ‘

T TG G N ATE B A @
EL R R o pe—
BamE

ih w3

@) g& oy

(3) ¥y

(® 7 oz ah ¥

Frfifen % & dm-m smm e
fowm & aer s % 7

(1) wmr

(2) T
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28. Why should co-curncular activities be
orgamised in the school ?

(1) Ithelp institution to get fame

(2) It help in the overall development
of child

G) It help in justification of fee
collection
() It is important for those students
who do not take interest in study
29. The dynamic force that energises
behaviour and compels the child to act
to learn, is .

(1) Goal
(2) Drive
(3) Barrier
(4) All options are right
. Which of the following aspect comes
under mental development ?
(1) Language
(2) Size
(3) Affection

(4) Honesty
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w1~ 11/ PART —1I
(=1 T4 3ii) / LANGUAGES (HINDI & ENGLISH)

(=

2y 23R S s

HINDI |

e ——

3. Frm um W Pt ok 35 ¥ ohw 7 @t o o F
(1) % + 3G = 7Y () = & TR
(21 T - FEE = T [ Q) = Fa R
(3) T + T = Sy (3) o= 3 s A
N} 7 - TH = A @ fEm a3 =
32. TEEE oA v W T Ak 36, frm o= 3 o T @ mm A R
) FEEE (2) = L
%) AT ) A= () w3 (2) s
(3) 7= @) e
3. e A ToE T s Rk ? )
i . 37. WW AN - A | @i R
i 5 wATH
— (13 Frewaaras
(2) Frommaras; wdes g
(3) FATE HEAW
(4) T fai
34, mwmE T § ffm e @ fw R ) p
s e & 38. :"i_"’«"’ﬂﬁ T & Twie w
(1) aw g - T (1) s d, st
(2) TP - S WY (2) @ H, T
(3) et - s TP (3) TiaTe wwW, FafETE
) FEmm - (4) AfETT e, F
Level-1/1101
0] (141
[ 33fl / ENGLISH |

Direction : Answer the following quesiions by select

ing the most appropriate oplion

46. Identfy the word with a different sound
represented by the underlined letter at
the iitial level i one of the following
words
(11 gnder
(2) unnverse
(3) union
4) unity

47. Which one of these options has the

words arranged in proper order to form

acorrect sentence 7

(1) Already/l have/pmd/the bill.
) | haveralready paid/the bilk
(3) The bill/l have/paid/already.

(4) 1 have/paid‘already/the bill.

48, Fill in the blank space with comrect
article in the following sentence
This is best place to visit
during summer vacations
ha
(2) an
(3) zero article
1) the
Level-1/1101

49. In which one of the following sentences

punctuation mark has been correctly
used at the end of the sentence ?
(1) What a beautiful picture it s !
(2) What a beautiful picture it is ?
(3) What a beautiful picture itis .
(4) What a beautiful picture it is

Choose the correct form of the verb in
the following sentence

It was a clear night and the stars

(1) is twinkling

(22 were twinkling

(3) has twinkled

(4) are twinkling

Choose the correct option tor the
underlined phrase :

Why did you tumn down such a good
proposal ?

51.

(1) Refuse
(2) Postpone
) Reply
(4) Accept

amf % 4 Rus am @ gz g
s e @ o

(1) B - 37 3 BT & S o
(2) fomm - fom & P amem

(3) frawm - R & fo e

(@) af - o fm g

‘i 7w AW k- o ¥ A
w 72 qftem Am

() Frmfadrer awd &' @ Radm
(2) s afgw # fas

(3) fasraor “nfgar’ %1 Fadman

(4) gfast

41, FA W E A

(1) =777 3t gham =7 & ford 3 foo
() ¥ 7 A B F w3 fm
(3) @7 A = @ A F

() @7 F = e B B R

qpET 3 fadvee &
(1) %z 3t & wdm R a0
(2) 7 =7 75 @1 st T

&) T F i qew aw oww 3
aftads #m)

4) TR & fem 3w

42,

Level-1/1101

Fill in the blank space with correct
adverb in the following sentence :

Itis . . cold today: please don't go
out for a walk

(1y very

(2) some

(3) much

(4) little

Identify the adjective in the following
sentence from the options given below :
She interesting
programme on wildlife on National
Geographic Channcl

(1) Watching

is  watching an

(2) Interesting
(3) Programme
) Wildlife

54.

Identify the word with a different sound
represented by the two underlined
alphabets at the final level in one of the
following words

(1) cach
(2) watch
(3) match
(47 patriarch

‘ Level-1/1101

1131 D]
4. A g R e & ot §osam
TF "y B e geewn b ofem
o 3 @ gfem = o A g 2 Y
(1) mprE 12y ™z
3) zmEa (4 seme
44 TR R 0F Ao owmom e B
TR T F fam o v
(1) 3o
(2) T fm
(3) =
(#) famer s
4s. W f#m 3 w0 mmm o v g
k2 B
(1) #&m 2) g
(3) =7 (4) T
SIS S =T g
P10
1151 D]
85. Which onc of the followmg wond
Eroups s used as nouns n o laning
sentences 7
(1) Advice, Practice. Admitation
(2) Advise. Practise. Admire
(3) Advisable. Practicable. Admirahi
(4) Advisedly. Practically . Admirably
Read the following passage carctully  and
answer the questions (O No 56 10 89) on the
basis of the passage
Passage : An elder sister came 1o visit her
younger sister in the country  The clder was

married to a tradesman in town. the younger 1o
a peasant in the village. As the sisters sat over
their tea talking, the elder began 10 boast of the
advantages  of life:  saying
comfortably they lived there. how well they
dressed, what fine clothes her children wore.
what good things they ate and drank and how

she went to the theawre. promenades. and

town how

entertainments.

The younger sister was piqued. and in
tum disparaged the lite ol a tradesman. and
stood up for that of a peasant 1 would not
change my way of life for yours. suid she “We
may live roughly. but at least we ae ree from
anxiety. You hive in betier style than we do

P.T.O.
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but though you often earn more than you need.

1161

vou are veny likely to lose all you have You S6.
hnow the proverb, “Loss and gain are brothers
a1t often happens that people who are
wealthy one day are begging their bread the
next. Our way is safer. Though a peasant's life
1s not a fat one. it is a long one. We shall never
grow rich, but we shall always have enough to
cat!
The elder sister said sneeringly :

‘Encugh ? Yes. if you like to share with the
pigs and the calves ! what do you know o‘f
clegance of manners ! However much your
goodman may slave. you will die as you are
living - on a dung heap — and your children the

same.

‘Well. what of that ?* replied the
younger. 'Of course our work 1s rough and
coarse. But, on the other hand, it is sure, and
we need not bow to anyone. But you, in your
towns. are surrounded by temptations. today
all may be nght, but tomorrow the Evil one
may tempt your husband with cards. wine, or
women. and all will go to ruin. Don't such

things happen often enough

Level-1/1101

10y 18]

Which one of the following is 70f an
advantage of the town life according to
the writer ?

(1) Comfortable life

(2) Fine clothes for the children

(3) Good things to eat and drink

(4) Living on a dung heap .

"Though a peasant's life is not a fat one,
it is a long one.” What does fat andI
long. underlined in this sentence 1
respectively mean in the light of the
entire passage ?

(1) poor: sufficient

(2) rich; safe and sure

(3) enough; anxious

(4) comfortable; rough

What is nor wue of village life
according to the passage ?

(1) Rough and coarse life

(2) Life surrounded by temptations

(3) Life without elegance of manners

(4) Life free from anxiety

59. Match the following and choose the

correct option given below :
Part-1 Part-2
(a) Elder sister 1. lived in country

(b) Youngersister 2. wealthy

(c) Tradesman's life 3. free from anxiety
(d) Peasant's life 4. lived in town
Options :

(1) a(1): b(2): e(3): d(4)

(2) a(4): b(3): e(2): d(1)

133 a(4): b(1): e(2): d(3)

(41 a(l): bi4): o3): d(2)

171
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0. Choose the correct preposition from the

given options in the following sentence
She is sittng next
in the second row

(1) By

her brother

(2) Towards
3y To
) On

(Level-1/1101
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AP - I/ PART - 111
HHM 3149+ / GENERAL STUDIES

[T v, i ST GO SR S od ST / QUANTITATIVE
APTITUDE, REASONING ABILITY AND GK & AWARENESS ]

e Gt A & 377 33 F Ao qa@ o ey g
Direction : lnsv ot follow g questions by selecting L/’i' ‘mast appropriate oplion =
61. AW & & A WA wEm R 7 ‘ 61. Which of the following is a prime
| number
m n? 2) 147 | m 17 (2) 147
v e ) 159 (3) 149 ) 159
62. Fr=t A B A A Al ¥ 62. Which of the following is correct ?
1§ Ssdsd
W TE3
I VA
@ = > 3 > 3
| 2 .83
0 335
|
0
“ 3 > 3 > v
63. & #humy frum & 3 o weem %) few B 63. | walk 3 m in south direction. Then |
= 7 gz 5 Ho T §) 5 AW tum in right and walk 5 m. Again | tm
ot 2
q237 7 Wl TN §) wA in right and walk 7 m. At last in which
TR dammE? direction. | am walking ?
(2) =& (1) North (2) South
(4) Tirm (3) East (4) West
64. V0024400049 T E 64. 0.02+0.0049 is equal to
003 (1) 0.03
2003 (2) 03
(3 V027 ; (3) Y027
4 o2 ) Yo
Level-1/1101

65 dm dE B AL BA O R L g
@l B C ol wa koo DA A
g oter R | qeA e A b 7

A Q). I
3 C D

66. @ ad sifa at (¥ ad) & 7
o) 1704 (2) 2002
(3) 1982 (4 1994

67 Frt ozl @t wiwma srpEn R amwfem
Rl

(o A T o R T
V. =, v faee

Ao wm,

I LIV, v
2 Iv.nLLv.
G) HLLvaven

) IV Ly

™ A 4 A 30 e oA Ak

LR R S gy
% i Fom o & B 7

() 3

(2) -
(3) 2fr-gfier
¢y gyl

Level-1/1101
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Out of five frends. A is shorter than 18
but taller than 11 C i tallest and D 1
little shorter than A Which one i~ the
shortest 7

h A @

[EINS D

. Which year is leap year

1704 2) 2002

(3) 1982 (411994

Arrange the following words in a
logical sequence -

I Cutting, 11 Wearing. 111 Marking.
IV Measunng. V. Stitching

(h LHLILIV. Y
@ vaLLv.n
Gy HLLV.V.

IV aLLY

. A clock shows time 4 : 30. If hand of

minute is in east direction then hand of
hours is in which direction

(1) North
(2) South-East
(3) South-West

(4) North-East

P.T.O.
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] 1201
- are boys". i # @ 97 A 73 Find the missing wrn of 1l sories
Atz (1, 2. 3) "These are boys” SEff 69. 17 (1. 2. 3) represents "These ighty” b o i
69. = (1, 2.3 . ts “Boys are nav, . o 11 P & & P o U
7 7. (1. 3.4 “Boys are naughty (1. 3. 4) represen “Naughty boys = 2,2, = % — 3 sy e
T T %, ST (1. 4. 5) "Naughty and (1, +. 5) represenis scntd 24816 & A 2.
boss play* T FE B @ - play” Then which number " ¥
s “Noughyy” T T K 2 “Naughty" ? M 5 \ o o2
h @3 a1 @3 i
3 5 o 2 @ =
3 4 43 3) 4 @ 3 32 2
- i o father is only son of 9 9
70. A 3B A %m . g fon 3w ow 70. As.dlog.vm & o ‘3,’_‘
g R my father. . -
o ” 9
AATBA T ATk then what is the relation of A to B @ % | @ 2
)z (1) grand father |
2 and son
@ & Glw 74. A PRl g o Bowm 50% M A A | 74 I radivs of a circle is S0% decreased.
o o B, g B e A Bh A then how much s ara of crcle
3) dEr (3) grand daughter A ! !
3 2 | decreased
o o (). Saher 1) 100% i () 100%
71. 3% VICTORY 71 %7 57 YLFWRUB 71 If code wond of VICTORY is 2 75% ; @) 75%
d7 WAR @ %z o ZDU B, A YLFWRUB. and code word of WAR is | o
SUCCESS 71 %2 o/ F ZDU then code word of SUCCISS is ; Q) s0% { (3) 50%
(1) VXEFHWW (1) VXFFHWW ) 25% ) 25%
) VXFEHVY (2) VXFFHVV 75. 1 fER e ?mrfl 60 i o # 75. A wmain of length | km is nning with
3y VYEEHVY (3) VYEEHVV R drE B Twd | feh e speed of 60 kmvhr. Train enters i a wnnel
3 VYEEIWW 4) VYEEHWW "‘33;" A W1 F B Yo A g of length | k. How much time swill train
i A he: 2w w3 § fen w7 take 1o completely out from tunncl
72. @ADL AW E AT LM A WA 72. 11 D becomes L and E becomes M. ) | e | (1 minute
AT T AW ¢ What would A become ?
) 2 e 2
] @1 | (J )1 2) 2minuies
3 K T 3) K ) H G) 1 9= (3) 1 howr
4) 2 qu2 ) 2 hours
Level-1/1101 Level-1/1101 PTO
123] (]
D] 1221
096 N 76, 096 I 81, JITREE e fae B 81, Archacological site Mitathal is i
., — a3 . —— 1sequal to
™ 48 (1) e o & (1) Rohtak district
02 M 02 ) fomm fr@ & (2) Hissar district
) 002 ‘ ) 00 (3) Pt A & (3) Bhiwani district
|
(3) 0012 [ (3) 0012 ) frrm P & (4) Sirsa district
@ 2 “ 2 _
| 82. Prafafaa & @ 4 1857 & F@A & 82. Who among the following is nof reluted
63 B . Ao 7o k7 to the revolution of 1857
®EZ-2 Avmamk I == = 22 then valuc of v is
e e Lk LS e (1) g (1) Sadruddin
m 14 @ 2 14 @ (2) ™ ™ (2) Rao Tula Ram
() 28 “ a2 G 2% g2 3) w2 (3) Gopal Dex
oy ™ 4) Sir Chhot
78. x._'l- T & 78 10— isequilio @ 7o (4) Sir Chhotu Ram
“[" i "I' 1 83. 9 ¥R 7 wrm Ak 83. Phalgu fair is organised in
. 3
2 - 1) Fpim # (1) Kurukshetra
5 3
a3 @ ; a3 o 2) Bm (2) Kaithal
% 5 S
M s 5 (3) #z & (3) Jind
2 3 < “ =
(2 @ ey "3 () T & (4) Yamunanagar
79. e § & g4t fo wad adi b 7 79. Which of the following rational number 84, 2011 1 FEOEN & wgE wfn 84. As per the census 2011, the sex ratio
is largest B (5@% 1000 T 97wt (female per thousand male) in Haryana
1 7 & is
2
! 2 m 1 @ =
m g @ 5 3 3 (1) 861 12) 961 (1) 861 (2) 961
5 4 3 (3) 879 (4) 858 5!
™ ; @ 5 & 3 @ 3 E (3) 879 (4) 858
, — : 85. #ftuen @ wad S oy A b ’ 85, The highest mountain peak of Haryana is
. A 1 pr e o b 80. Find the next term of senes
80. () w7 (2) A | (1) Karoh ) Momi
0.3.8.15. 24, 0.3.8.15.24,2 [
M 3 ) 4 (1) 3 @ 34 ©) Rev ) gar | () Bhiliss () Khudana
(35 “h 36 A 35 “) 36 |
Level-1/1101 P.T.0.

Level-1/1101




(R 1241 [125] (RN
) | R W~ IV/PART - IV
86, Y T TR WA B 1, 86. Kalesar National 7T / MATHEMATICS
1) Kurukshetra district
{ R - e a5 @ w7 83 @ R 6w Rt e g
(2) Ambala district : Answer the foll q by selecring the most oplion — =
(3) Panchkula district o1, P @ A A AT - | 91. Find the value of -
4) Yamunanagar district r R | r '
) K]~ ‘m),J‘] l_Z] K-“"""I*l‘] (=2)
87. Fos A= BEA AfTATm-2016" & 87. The investors summit “Happening \3 3
Pre - T saita Wi ganised in
e fem @ Haryana - 20167 was organised 1 () 24216 (1) 74216
— 2 8 2) Hissar
il m;—nﬁa 2) fmr'iﬁ (1) Panchkula () Ih @ 72906 | ) 12916
3 4 4 7 3 S d () Gurugam
(3 g () TE™ (3) Surajkun ( urug 3) 16729 { 3) 16729
88. 37 JW @ M, [3wE AN A fawiftd | 88. Choose the par of which both ihe () 16:829 | ) 16829
3 fran sieieE - 2006 % wm R A | players participated i Rio Olympies -
2016 92, "H T N A 64 A « 54 AR 92. A cuboid is of measure 64 ¢cm x 54 cm
(1) 7 T dw v faw (1) Sandeep Kumar & Inderieet Syl * 30 ¥ i o ol ad e B | * 30 em. How many small cubes with
. = R " o, fan o e § v W aEA R 7 | sides 6 cm can be placed in the given
(2) A wE i fm e (2) Monika Malik & Geeta Phogat | cuboid ?
(4 e s A =i T " (3) Sakshi Malik & Sushil Kumar (Lr 380 [ () 380
() e g AT EEE T [ (4) Vinesh Phogat & Sanjiv Rajput (2) 480 @ s
131 520 |
89, Fii @ A o ow e W | 89. Which of the following cites has been o ; @) 520
o ¥ g o ®7 selected for smart city project ? et o | (4) 525 B
) (3) T (1) Gurugam  (2) Panipat % #d 3 R FWSPACE FOR ROUGH WORK
(3) FEE (4 T (3) Kamal (4) Panchkula
90. Zfrarm # Al faum AW 3 www 90. The speaker of 13th Legislauve
3 : Assembly of Haryana i1s
(1) 7AW T [ (1) Santosh Yaday
\2) v (2) Abhay Singh
(3) Fav o= (3) Kanwar Pal
(4 e Fo A (4) R.K. Nandal
Level-1/1101 Level-1/1101 P.T.0.
D 26
0] 126] 1271 D)
98 2000 %o FEA A 9 i fan LW ice Sunceta marked on a "
e i Wl 1% ﬁ’I NN 3. What price should “m‘t_‘ 5t i 88, W EW wem, F I % A W oaw 85. A two digil number s four times the
e woafE 1 @ one costs Rs. 2.200 so as to 2
w4 2635 B 7 k3 Sarce which' costs:Rs. - " T R, aw 3 s @ e @ e R sum and three times the product ol iis
7 26 . in 26% afl ing s | 3
u.:m 26% after allowing a discount of e @ g Hmw digits. Find the number
12%?
(1) 3050%0 (1) Rs.3.050 nn 12
() 3075 %0 @) Re3.075 @ @ 2
2) Rs 3,073 '
() 3150 %0 ) Rs.3.150 3 14 G 4
) 317570 @) Rs.3.075 M “ 4
W oR D=4 =§ 96 If 2'=4" =8 and _}q J 9. A ¥ A Bl & oA 23 % 96. The radii of the two ¢y linders are in the
r 4y 4: "
AmA . Genvitaniats Y w1 S @ S 3 @ ratio 2 : 3 and their heights are in the
T F g # I ratio 5 -3 The ratio of their volume is -
716 m 716 My 2720 ‘ ay 27:20
) 916 ) 916 @ 20:27 ’ () 20:27
1 .
™ 7R @ 7 ? e : ) f:9
. ) 9:4 ) 9.4
) 948 (4) 948 1




1281

x ®

39

) 1

8 @ T, 6 W TaE A4
258 4 115 T . 6 T
foh $3t F1 wmvaEA Aon 7

23 &
3 ¥
am
(1) 3200
2) 4800

(3) K300

(4) 7200

Il 130]

101, ABCD 7% =i & fmd ZBAD - 60°

1291
97. ‘The positive value of ¥ in the equation |
;*pwwlzm li 90, MM 211815 ... FFEWE |
= wmp——" S |
18-x 18+x ! ' 81k
|
L M 35 1
" 2) 38 ‘
3 9
* (3) 40
@ n
@) 4

98. How many bricks cach measuring
25cm x 11.5 em x 6 cm will be needed
to construct a wall 8 m long, 6 m high
and 23 cm thick 7

1 3200
(2) 4800

(3) 6400

(4) 7200

101. ABCD is a parallclogram. in which

T LCBD - 0° B ZBDC @ owm ZBAD = 60° and ZCBD - 70° Find
m I the measure of ZBDC :
D, ¢ D,
/
70°
A A v
A B A B
1200 2) 70° (1) 120° ) 70°
(3) 60° 4) 50° 3y 60° @) s0°
102. fZwm Fgw s Him frd ge @ dm 102. Find the quadratic expression, whose
1 A FAA 3 Ad 2 R sum of roots and product of roots arc 3
and 2 respectively ©
)« -3x-2 M x*-3x-2
“2) e3ve2 (2) Fe3x+2
(3) ¥*-5r+2 (3) x*-5x+2
|
4) ¥ 45r+2 (4) 45142 |
10| 132]
105. = S @ F oo E 105, Find the principal amount. if the

T 1261 3o B e

1) 850072

2y SU00 Fo

(3) 7550%e

4) 7300 %o

3}

106. =7 A 31 73, B 71 W@ # 25% Haw
fA ofavm ATE R 7
th

15%

2

(2) 25%

(3) 33%

4 0%

106.

[ ———NE AP ATE RN AT

compound interest at the rate of 5% per
annum. for 3 years is Rs. 1261

(1) Rs. 8500
(2) Rs. 8000
(3) Rs. 7550
(4) Rs 7500
1f A's income is 25% more than B's and
B's income is 20% more than C's. by

what percent is A's income more than
Cs?

(h 15%
2) 25%
(3) 33%

(4) 50%

A # A e
(1) 106°
(2) 156°
(3) 206°

(4) 256°

103. R =l 3 ofid AC-S. 7). B(-4. -5)

C(-1.-6) @1 D(@. 5) &, & =i =
e B

(1) 72 7 "%
(2) 75 @ A=
(3) 80 # AEE

(4) 82 @ "

104. TF fFE @ 130 AW o TR oaw

| @ R@ 75 AT @ R AR
s = A oF e #ogerE R
B @ 38 W ge wra A A i
o

(1) 751130
2) 13075
(3) 55/130

(4) 13055

107. 7 Bgal (@ 0) AT (-0, 0) F g

ey AFhEadmam2 kA

()]
2)
3) ¥ oat=bey?

) Fedt=b —)‘!

. AT A wwm A w AT S 7R

a7 A T g AT 34
| #f7 21 aemE g e g

(1) 207
(2) 28 2¢
(3) 30ad

4) 33 @i

100. |swﬁmmw%ml

131]

108.

99. Inaseries 210 1% 15

term s K1
i 33
2) 3%
(3) 40

4) 41

100. Find the measure of each merior anulc
of a regular polygon of 13 sides
(1 106°
(2) 156
3) 206

(3) 256°

i

LI A-S, 7). B4, -5) C( L.
D(4. 5) be the vertices of quadnlateral
find the arca of quadrilateral

6 and

(1) 72 square units
(2) 75 square units
(3) 80 squarc umits

(4) 82 square units

104. A coin is tossed 130 times and head 15
obtained 75 times. If a coin is tossed at
random, what is the probability of
getting a tail ?

(1) 75130

(2) 130175

(3) 55130

(4) 130/55
33 Il
1
| 107, Ifthe sum of squares of distances of the

point (x. v trom the points (@ 01 and
(~a.0)is 2" then

(48]

2)
Boat=h eyt

(3)

@) Fedt=p-)?

The ages of Hari and Shyam are in the
ratio 5 : 7. After four years the ratio of
their ages will be 5 4 Find the presem
age of Han

(1) 20 Years
(2) 28 Years
(3) 30 Years

(4) 33 Years
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110.

[

14,

115,

134]

3120 T R A k8% @ e |
ﬁhw@umwﬂm)
wfen ?

(1) 145 %o \
(2) 120 B0

(3) 135 %o l

) 130 %o ‘
HF S F

Y51+ Y216 - 32

(10

&

(3) 12

4 32

136]
. —— |
T @ T @A G, DRER Seg
40 &= A a4 & g

(1 90 T (2) 96 @ [

(3 o8 7 41108

o

w305 & o A R of g

a8 9 Tmm oAm oA s
ST 12023 A A R EE aEn am
(h 52 2) 33
3) 54 4) 5%

. 46636 T WA Ffw |
|

1y 26 2) 36
3 M4 4 46 |

.Mm@ﬁl}osoi%ﬁwm ‘ 109. By selling

110.

14,

115,

Joses 12%. For how much should he sell

it to gain 8% 7

(1) Rs. 145

(2) Rs 120

(3) Rs. 135

(4) Rs. 130

Find the value of
14016+ 132
m 10

@ 1

3) 12

4 32

Find the perimeter of the rectangle
whose length is 40 ¢m and a diagonal is

41 em
(1) 90 em (2}, 96cm
(3) 98 em (4) 108 em

Two numbers are in the ratio 3 - 5. 119
be subtracted from each. then they are
in the ratio 12 - 23 The second number
i

(h s2 (2) 53

3 54 4) 55

. Find the cube root of 46656

(19 26 ) 36

3 34 ) 46

an article for Rs. 110, aman

1. 28 ¥ B @ ofed 31, 352 o W

112,

17,

118.

# fom, farh A g wifen 7

(1 200 (2) 205

(3) 245 (4) 255
ol wd B 25 e, 36 A A i
T B, A 15w B R A

ar @ oo 7 7
(1) 40 2) 50

3) 52 4) 60

. 7 A T A M 34,5683

fawrm &
(1) 4900
(2) 1600
(3) 2500

() 3600

e ma fom &, afz o
F WA @A

3y, Aoy A

() x= 15" y=40° -=60°
(2) x=45° y=15% z=70°
(3) x=45% y=15° z=30°
(4) ¥ =450 y =250 -o 400

B @ e w dw e A
Y 8 T AW 11 ih B g ofrg
32 &k

(1) 42 & (2) 30
(3) 830 ¥r

135

1371

i

1"

12,

13

"7

118,

(]
How many times the wheel of radius
28 cm must rotate to go 352 m
(1) 200 2) 205

(3) 245 ) 255

1f 25 men can do a work in 36 days. in
how many days will 15 mendo it *

) 40 2) 50

3) 52 4 60

The least perfect square which is
divisible by 3.4.5.6. 8 is

(1) 4900
(2) 1600
(3) 2500

(4) 3600

(]

In the given figure. it x 3. find the
valucof vy and =

A

4>

(XD

&) \e
(1) x=15° y=40° == 60°
(2) x=45° y=15° ==70°
£3) x=45° y=15° z-40°
(4 x - 45° y=25° -~ 30°

Find the arca of trangle whose two
sides arc 8 cm and 11 em and perimeter
is32em:

() 42 em’

(3) 8430 em’

(2) 30 em’

) 5V30 em’



I

138]
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M-V /PART -V
AT 3 / ENVIRONMENTAL STUDIES

tions by selecting the most

option.

122,

‘ 124,

[41]

130.

131

121, Major component of biogas is

() 1S
3) €O,

2) NO

(4) CH,

Principal resource that determine the
life on land is :

(1) Nature of soil

(2) Water

(3) Temperature

(4) pH of soil

Which of the following state is not
covered in Ganga Action Plan Phase-11 ?
(1) Jharkhand

(2) Unarakhand

(3) Madhya Pradesh

(4) Haryana

What amount of available solar energy

is converted to food encrgy by leaves of
terrestrial green plants ?

(1 45%
2) 10%
(3) 1%
4 99°,
P.T.0.

0]

. Smog is

(1) Ozone and smoke

(2) Vehicular pollutant

(3) Fog and smoke

(4) Fog and ozone

Part of N; cycle that is opposed to N
fixation is

(1) Denitrification

(2) Ammonification

(3 Nitrification

(4) Carbonisation

‘Kulh' the local method of canal
irrigation is popular in

(1) Kerala

(2) Andhra Pradesh

(3) Karnataka

(4) Himachal Pradesh

The rule of three 'Rs' 10 get rid of waste.
does not include

(1) Reduce
(2) Reuse
(3) Regeneration

(4) Recycle

139]
19. 19 vEl @ dwm AW 25 fam B 0% 119. The average weight of 19 students was
1 um B w4 w shea W o 25 kg. By the admission of new student
57 248 o & e By om @ the average weight is reduced 0 24 8 k. Al : frafifarr 7o) # a7 33 3 Fe 598 ot Fraes g
wr The weight of the new student is Direction : Answer the following g
(1) 248 fEm (1) 48kg 121, aiha (e ha) @1 e e B
(2) 208 fam (2) 208kg () 1S 2) N;O
() €O (4) CHy
(3) 20.6 FEn () 206 kg
o) fam . 122. T dweE A em o A w Fat
21 ) 21 kg ot
120. Pl a7y 1 B 15,500 So A4 IHE 120. The cost of an article is Rs. 15,500 and () 520 4 gz ‘
TATER G 450 Fo B W @ A A the maintenance cost is Rs. 450 11 it is @ [
15% % o dm Am @ A W sold for a profit of 15%, find the sclling ) |
faw 51 oA g price of the article : ) ¥ & pH
(1) 1834250 %0 (1) Rs. 1834250 ¥ i ‘
2. :ﬂiﬁ;&ammwtmm Lo
(2) 1814250 %o () Rs. 1814250 =T § i B i
(1) wmEvE |
(3) 1739575 %o (3) Rs. 1739575 |
(2) FWmETE
() 173457550 l ) Rs. 1734575 S 1
- T @ @ R STSPACE FOR ROUGH WORK — by 2y
124. 7T A o ) ot g v A
S F e w wm w R o
Fen amm & 7 \
(1) 45%
(2) 10%
(3) 1%
(R 99%
Level-1/1101 Level-1/1101
In [40]
- i b
125. 4@ B (Fg Wraad geTAE A i 125. Presence «-ln;\-hw‘!l ';‘m‘::':t::; ‘::;:“., 120, TR
nagmR? in water is indicatios 7
e i (1) 3 g g
(1) e Aa] (1) Coliform bactenia
3 (2) awmfa s
(2) FT (2) Chlorella
) @ (3) Spirogyra (3) e g gsi
o) @A (4) Volvox (4) BB U2y A
126, e zd fsAd & @M & R s 126. Village Khejarli, famous for sacrifice of 130. ggr R 3 Rl Argee a9
FAzA e waem & Amrita Devi Bishnoi is situated in FAME
1) famedimm
(1) T F (1) Jalore m
o (2) T
(2) Ay § (2) Jodhpur ]
i (3) AT
3¥ Chitt
(3) feree & (3} Chittorgarh "
(4) aarE & (4) Banswara
131w fied @ owrm oo g
127. P w0 A O} Pl R 127. Which of the following countries has .
waitas & 7 the highest biodiversity ? (ij S d
() Frw (1) Brazil P —
(2) afEm sk (2) South Africa e
3) ™ (3) Russia a e
4 W (4) India
132, afe & sf| T F Fafe dw R
128, fai3 7= @ A TR AW E 128. World Wildlife week is celebrated in # wffem a §
(1) e & wom waw § (1) First week of September (1) %% 39dm
(2) AT B g A A (2) First week of October @) T T
() ferer & e waw & (3) Last week of September () T
4 T 2 af=m 7em # (4) Last week of October 4) T
Level-1/1101

Level-1/1101

P.T.O.
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133,

135,

136.

. frefefaa 3 & d-m wha wE A

142]
frefafea & & @ SO, T W
e g R
(1) e
(2) agEA
(3) AT
) e

22

) @ F
2) 7

(3) 9
< am

A FA T T B

(1) TR & fafve wem s
Mk

(2) FAt & BW o aE F 9w E
3t wem A A w7 B

(3) 3 e F CFC # 9@ A
L1

4) v PN Em SO T
#a Fa e B

= 3 F AW A g Al
%7

o) #=E

2y irm

(3) T

4) TEER

Level-1/1101

D]

141,

. = A FEam awwia g @

. 79 9T Aok § s A

. oTEE E WA

14

57
() T T

(2) FEA A IS
(3) BEET ISR
() T e

wfra v g fae e ad %7
(1) T

(2) 940 1 fEA A e B

(3) ®= e At R

(J)wmﬁmﬁmﬂ
Lo B

(1) T

(2) &

(3) o=t aut

(4) Foeifem sforirg wad (SPM)

(1) AZEA a @ ga e 3 weEs
%

(2) 5@ drem @ gE w @
TR TE G E

(%) &, T A Ay W ga e §
1 o T 2

TR CERCE CE R e k]
s mm W i wm R PR
T i g ko

Level-1/1101

133, Which of the following is the best
indicator of SO, pollution
(1) Algae
(2) Lichen
(3) Bryophyte
(4) Preridophyte

. Which one is mof an abiotic factor

(1) Sunlight
(2) Water

(3) Decomposer
(4) Temperature

. Select an incorrect statement :

(1) Various components of ecosystent

are interdependent.

(2) Loss of energy limits the number of

trophic levels in an ecosystem.

(3) CFC plays major role in ozone

depletion.
(4) Waste produced by
activities is always biodegradable.
136.
pollutant ?
(1) Fertilizers
(2) Acrosols
(3) Mercury salts
(4) Pesticides

Which of the following is mof a
vehicular pollutant 7

(1) Particulate matter

2) Carbon monoxide

(%) Sulphur dioxide

(4) Carbon dioxide

140.

141. Green house effect is nof related with :

(1) Eutrophication

(2) Average temperature of earth
increases.

(3) Induce skin cancer

(4) Prevent the escape of heat from
earth surface.

142. Find odd one out with reference to air

pollution

(1) Eutrophication

(2) Smog

(3) Acid rain

(4) Suspended Particulate Matter (SPM)

143. Select an incorrect statement :

(1) Lichens and Mosses help in the
formation of soil.

(2) Humus is 2 major factor in deciding
the soil structure.

(31 Sun, water and wind has no role in
formation of soil.

(4) The mineral elements that are
found in a soil depends on its
parent tock, from which it is
formed.

human

Which of the following is not a water

137.

CFC yom =9 } Fwverd &
(1) 3 o & fo

(2) *a  gwE @ f
(3) oy aut 3 fory

@) =3 f

. Prefm @ Tife A -

(A) T it () s

(B) % smwEdm (i) gaeT
Frfas e

©) & & &

(DDT)
(D) Ftebz

(i) e

(iv) BOD
N A-Gi). B=(i). C(iv), D)
(2) A<(iii). B=(ii). C=(iv). D~(i)
(3) A-(iit). B-(iv). C-(i). D(ii)

() A-{ii). B-(i). C-(iv), D(ii)

. 7 & ww 3 e e agevedn

Lich

(1) 8vss
(2) wapEs
(3) I B
(4) T AU

Level-1/1101

144,

145.

o i & fadr Qoo s A B
() %%

(2) P (3=ta)

(3) s

(4) e

Frfefem & A fma gge ot
k7

() &7

(2) T

(3) @i

()

. Prafafea % & 9@ s TR

%7

) HaE
(2) am
(3) wfaar
(O

. G, A, T, gy wh
e &

(1) SREE 5% 3
(2) T 9 ]
(3) T =% F
@) F = ]

Level-1/1101

143)

45]

137.

139.

146.

147.

ID]

CFC is mainly responsible for :
(1) Ozone depletion

(2) Green house effect

(3) Acid rain

(4) Smog

. Match the following

(A) Ultraviolet
Rays

(B) Biodegradable (ii) Eutrophication
organic matter

(i) Bio-magnification

() DDT
(D) Phosphates

(iif) Snow blindness
(iv) BOD

(1) A-@i), B-(3), C-(iv). D-(ii1)

(@) A(iii), B-(ii), C(iv). D=(i)

(3) A-(iii). B-(iv), C=(i). D-(ii)

(4) A-(iii). B-(i). C<(iv). D-(ii)

The main atmospheric layer near the
surface of earth is :

(1) Troposphere

(2) Mesosphere

(3) lonosphere
(4) Stratosphere

(]

The second trophic level in a lake 15
(1) Fung
(2 Benthos
(3) Zooplankton
(4) Phytoplankton
Which of the following 1s not a natural
ecosystem ?
(1) Forest
(2) Pond
(3) Garden
(4) Lake
‘Which of the following is an obnoxious
weed ?
(1) Soyabean
(2) Bajra
(3) Cow pea
@) Parthenium
Coal, limestone, petroleum. animal
shells are all related to
(1) Oxygen cycle
{2) Phosphorus cycle
(3) Nitrogen cycle
(4) Carbon cycle

P.T.O.
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148. Which of the following regions has

149.

150.

maximum bio-diversity ?
(1) Temperate rainforest
(2) Taiga

(3) Tropical rain forest

(4) Mangroves

The unusual

because it is entirely :

phosphorus ~ cycle s

(1) Within aquatic ecosystem
(2) Within terrestrial ecosystem
(3) Sedimentary

(4) Gaseous

Which one of the following has the|

largest number in a terrestrial ecosystem ?

(1) Decomposers

(2) Producers
(3) Primary consumers l

(#) Secondary consumers




